Ling120B Midterm Exam Fall 2018

Answer the questions in the spaces provided on the question sheets.
Good luck!!!

Name: _Shavon Lw \D

Total points: == gy

Question 1: Morphology

(a) (5 points) Draw a tree structure for the English word undeniability. Make sure to
label each node.
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(b) (5 points) Draw a tree structure for the English word remagnetizes as used in the
example below. Make sure to label each node.

(1) The instantaneity of a flash of lightning constantly demagnetizes the nee-
dles of the electric telegraph, and often remagnetizes them in the reverse

direction. J
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Question 2: Node relations (13 points)

Consider the tree in (2) and answer the questions below.

(2) TP
DP, T
/\ /\
D, NP, T VP,
That AP NP, will VP, AdvP
A N, \Y% DP, Adv
| | AN |
smelly cheese empty D, NP3 quickly
| |
the N3
rOV Al 4+he wovd§

(a) (1 point) What is the root node? Al Va /

(b) (2 points) What are the terminal nodes? ot smelly, cheese, will, emply VAwe | voom, quitkly

(c) (2 points) List all the nodes that VP, dominates. _¥_« PP2. D2  ¥VP5 , N4 Wf*j -

(d) (2 points) What nodes dominate NP3? VP2, Y0, , VP, T T¢ '

(e) (1 point) Does NP, precede N,? O Yes IZf\N/

(f) (2 points) What node exhaustively dominates {will, empty, the, room}? precedene

OTP OT  OVP, B/\}eme - A canned dom. g,
B (apnot dow
(g) (2 points) What,riode exhaustively dominates {that, smelly, cheese}? " o
O TP \)2{1“ O NP, (J none
(h) (1 point) Does smelly s-precede cheese? o ’ é’ﬁo -—/‘

Question 3: Coordination rule (4 points)
Consider the grammatical English sentence in (3) and refer to the coordination rule as

stated in class.
Yot S

pP a dalt. Pat 15 a dod ard

(3)  Pat s a dolt and of no help " <~ Pt 15 of no welp. of  wno hely

O (3) is correctly predicted to be grammatical by the coordination rule;
O (3) is correctly predicted to be ungrammatical by the coordination rule;

lé/(g) is incorrectly predicted to be ungrammatical by the coordination rule;

(J none of the above.
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Question 4: Constituency Tests (12 points)
Consider the following tree structure for (4).

(4)  That young American writer will answer these questions on TV

That (2) will (5)
/\ /\
young (3) (6) co 9) 1
e ey N
American writer answer (7) o on TV
T
these (8)
|
questions

Your job is to associate each numbered node with the result sentence of a constituency
test that gives evidence for it. (1) is already done for you. Make sure to use each of the
following types of tests at least once.

EhpsHs
e replacement st et wd 1o
e topicalization Move went
e clefting W ¢« B dnat AC coovelfnad ion
Gord  Alore

e coordination

1, He will answer these questions on TV.
R‘é Thot one  will  angwey  Ahese guertions on TV,

3. dhat yowrg owt Wil angwer Abeit  gueedionf ow TV
(0% That yourd)  Amevican wyitey Wil apfvuer dhese querins o TV and will wukt n umm

) Coy \ v

kf/s. Thot yonrg AwayiChn Wity will do §0 for A pere
(& 6. _That You ko) Awavican  wyiky will  Aangwey Ahese quectiong and Al to veporby on TV
7. H s Adnege q\A?le( Ahat  Ahast \/ow«c} Amaicap ywilky will akiwtr on TV
8 _lhat  young  Amtvichn Wity s\ gngver  Aweje  ohes  on 1V,

79, 0n TV, dbet young  Awmevican  wwviky  will phiwty Yhege qm\‘ﬁluh{.
\ 7
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Question 5: Choosing the right structure (8 points)
Which one is the right constituency for the phrase [pp this tasty French pastry |? You will
be asked to support your answer using a constituency test result that is only compatible
with one of the two structures.

a. DP b. DP

this

French pastry tasty French

(/
(a) (2 points) The right tree structure is: E{(a) O (b)

(b) (3 points) It is supported by the following constituency test result:

Subsduien © Ahic Saddy owe

(c) (3 points) Explain how the result in (b) supports your answer.

T Cirbi Y 1aan ~ . - T ) W
sitndion 54 chows Hhad

French _pasthy ™ it o NY APd a

(Hfuent- Hawevey, wm v, Slhce ‘ Frenca © and “‘,vmf“"'{ ) conpoy  be cXhanitively
WhTueni- fowevty, W b, Siice  vrem e Y
dominaled by A node, b impliec thet " French paffw® 1 ot A onditutnd, L
wWihych g bk . A 1S {he covited  choyoe - -
Question 6: Structural ambiguities (30 points)

Sentence (5) is ambiguous.
(5)  Susan will marry that guy in the backyard.

Identify the two interpretations and provide an unambiguous paraphrase for each reading
(make sure that your paraphrase is actually unambiguous!). Then give the result of a
constituency test that makes the sentence unambiguous. Use a different test for Reading
A and B. Finally, draw a tree structure for Reading B and answer question (d) about
the tree structure associated with the other reading (that you don’t have to draw!)

(a) (5 points) Reading A
Paraphrase:

The fotaifon  Hhat Susan  will  be wmarryihg dhat guy s dh¥
NAT SRR wilt R AL L !

Snceyend. /

Disambiguated with test: _0pi@hration
Resulting sentence:

I ke vackyard . Swsap wih  wanvy  Jlei  quy.
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(b) (5 points) Reading B
Paraphrase:

SWsah MW gy y

Fall 2018

bt quy  who g CnprtmMly \ocated yn Jhe brckyavd.
1 J ] T 4

Disambiguated with test: _{ W& Hviton.

Resulting sentence:

Swean Wil wevvy  Ahet  gne.

(c) (15 points) Tree for Reading B

Draw a tree structure compliant with the X-bar theory.

You can only use tringles for [pp Susan), [vp guy] and [yp backyard)].

B¢
e
pe h
N\
Jus an T k“H’
W‘\\ /'-‘\\\
v yad I?P
YY\(/’\VY\’ /\
(7 / N T
A /’N\\
N P y\, !ll
A
(a‘ﬂ“‘ i ;‘
, 7\
1 N Y
the a4
}f\c\f\{ara\.
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(d) (5 points) List all the terminal nodes which are exhaustively dor.ninated by the
sister of the PP [in the backyard] in the tree structure for Reading A (the tree
vy structure you did not draw). /
' /
vy Yr many , Ahat ) amy ‘ _ L

S

1h the
VaLk Ny g\

" Question 7: Tree drawing (30 points)
Draw tree structures compliant with the X-bar schema that you learned in class.

may \
Ahad

NN
™

(a) (15 points) Every Spanish girl will wear|a red and white dress}%xt the party:/’

(ong i

You can only use triangles for APs and NPs. AR
.7 T v
J ' / S v
Lyy N N Al V¥ ¥ .
co vY N P pY
Ay NY PY ot A\
A 4 ‘ N Y
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(b) (15 points) Gill wonders whether the courier will deliver the package.

You can only use tringles for [pp Gill], [yp courier] and [yp package].
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